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CBO,D.HbIe AJaHHblIe
Kypc 1 Kypc 2 Vroro
Cem. 1 | Cem. 2 Bcero | Cem.3 | Cem. 4 | Bcero
TeopeTuyeckoe obyyeHune 14 13 27 9 7 16 43
D |9K3aMeHauMOoHHbIE ceccum 136 | 1176 | 24/6 1 1 2 4.4/6
Y |YuebHas npakTuka 6 6 6
M |lNpou3BoacTBEHHAA NpaKTuKa 6 6 8 10 18 24
I MoaroToBka K NpoLeaype 3alwuTbl 1 3aluTa 4 4 4
BbIMYCKHON KBanM@UKaLMOHHON paboThl
[ |MogroTtoBka K caaye v caada roc. sk3aMeHa 2 2 2
K |KaHukyrnbl 3/6 | 73/6 8 36 | 71/6 | 74/6 | 154/6
« |Hepabouve npasaHnyHbIE AHW (He BKIIOYas 13/60 | 5/60 |22/60 | 13/60 | 5/60 | 22/60 | 4 4/600
BOCKpeCeHbs) (9an) [ Gaw) | (A4a0) | (9an) [ (5aH) | (14 AH) | (28 AH)
MpoaomKMTENBHOCTL 06yYeHus] Gonee 39 Hen. Gonee 39 Hep.
WToro 233/6 | 28 3/6 | 52 20 | 2 | 52 104




